SYBA GEOGRAPHY PAPER 3 - SAMPLE QUESTION PAPER

Q1. The settlements located on the elevated land to avoid effects of flood are called -
-------------- settlements. T¥ oM iar SHaeI@® aigeedT  aEAT=AT SEE

dH FUTAIA.
Wet point settlement / 3% a&iT €I

**Dry point settlement / §[5%F FEAT TIH
Confluence settlements / FTHTINA FHAEATT
Defense settlement / H¥&T F&AT TATH

e

Q2. Which of the following types of settlements has highest density of houses?
GIATATDT HITAT TEATHES FIHT AAqT TATAF AP

. **Nucleated / Ffad
. Linear / T

1

2

3. Dispersed / g

4. semi-nucleated / Fwaisa

Q3. Eskimos in Tundra region traditionally used to built ------------- for their

shelter. . 33T TRATHA TRFAT AMF TRANE THATTAT ———————————— ATATSAT e
3 .

a) Tent / 99

b) Hanging settlement/ @HAT a&AT
c) **Igloos / T8

d) Hut / =IOt
Q4. In Census of India 2001, settlement with more than -------- of male working
population engaged in non-agricultural activities. I SFIUEAT 00 ¢ THAX AT
FEATHEY —————————————— AT ATAE FEAH [EY R FUl SEEETa [add et
AT AN F&d T Fgord aéT'f
1. 50%
2. *75%
3. 60%
4. 80%
Q5. The process of increasing share of population living in urban areas is
called . AR AFEEI=T JHONT 918 gIoar=a1 Ifhdd ——--——--——- e
FEUTATA
1. Commercialization / ZATITHLIT
2. Industrialization / =R
3. **Urbanization / FE&HTOT
4. Concentration / F&is¥or



Q6. Government of India presented National Housing Policy in the parliament in

the year ----. ATLq AR T [EAATT GROT ———————————- TR R e
FA .

1. 1985

2. 1987

3. 1986

4. **1988

Q7. Which union territory has highest population density as per Census of India
2001? AT STAIMUET 00 f AT AZATATIHTY ATLATA VAT HRITIET TILTHT ATHEEAT
TAAT AR P

Pondicherry / aife=<1

Chandigarh / 9&RTE

**Delhi / fawett

Andaman — Nicobar / &A™ - F#ET

» L=

Q8. Which of the following is characteristic of being politically neutral and
economically developing?

ST IAgeedT e |0 Sior sifsgsedt fawaaefier | g @refiadeht HIorear g
afory sme?

**Third world countries / o= SeTer 29T
Developed countries / fa&faa o1
Underdeveloped countries / Sfahfard Ier
Poor country / a0 39T

e hd =

1. High per capita real income / 33SI5 ATEATAF: ITHA SATEq

2. Large proportion of labor force in the tertiary sector / JdT® &ATATA HTHIT
It HIS THTT

3. **State of deprivation of large proportion of population / THFHEI=AT HISAT
THTOMT afera et

4. Industrial development is high / sr=nftis @M Sea Mg

Q10. Developing countries are starting to converge with developed countries in the
long run in what respect?

a3 e FFfEa Tendt e aEdT TR I3 AT sed?

1. Growth rate / fa&® 3@
2. Income inequality / 3<q« AFHTAAT
3. Population / SFHEEAT



4. **Per capita income / I ITH



